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5 = it 5 £ it 5 =z it
B F 410,539 466,911 877,450 410,371 466,559 876,930 168 352 520
1X &t 162,466 187,155 349,621 162,415 186,999 349,414 51 156 207
2 &t 123,819 137,969 261,788 123,765 137,878 261,643 54 91 145
3IX &t 124,254 141,787 266,041 124,191 141,682 265,873 63 105 168
|"§ B T 152,470 175,873 328,343 152,429 175,726 328,155 41 147 188
1R miEBEt 152,470 175,873 328,343 152,429 175,726 328,155 41 147 188
1 =) 7,296 8,239 15,535 7,288 8,236 15,524 8 3 1
X #® iy 2,700 3,043 5,743 2,698 3,037 5,735 2 6 8
R AT 9,996 11,282 21,278 9,986 11,273 21,259 10 9 19
1K ERERET 9,996 11,282 21,278 9,986 11,273 21,259 10 9 19
E OB W 45,452 51,480 96,932 45435 51,448 96,883 17 32 49
B m m™ 23,059 25,553 48,612 23,051 25,539 48,590 8 14 22
iz ] 11,292 12,705 23,997 11,284 12,688 23,972 8 17 25
2 TEREt 79,803 89,738 169,541 79,770 89,675 169,445 33 63 96
= 8 e 7,611 8,661 16,272 7,610 8,657 16,267 1 4
= H 6,677 7,014 13,691 6,671 7,006 13,677 6 8 14
[iZE =% ) 428 419 847 428 419 847 0 0
K 3 HT 1,791 2,112 3,903 1,790 2,111 3,901 1 1 2
N m ET 5,762 6,419 12,181 5,753 6,410 12,163 9 9 18
9 #H = E 3,996 4,431 8,427 3,995 4,429 8,424 1 2 3
RiZERET 26,265 29,056 55,321 26,247 29,032 55,279 18 24 42
= Fq JIl HT 6,740 7,488 14,228 6,739 7487 14,226 1 1 2
# R M 620 636 1,256 620 636 1,256 0 0 0
HEHMH 1,083 1,039 2,122 1,083 1,038 2,121 0 1 1
ER ) 1,986 2,103 4,089 1,986 2,103 4,089 0 0 0
REMFARET 10,429 11,266 21,695 10,428 11,264 21,692 1 2 3
= T FEET 4526 4,902 9,428 4524 4,900 9,424 2 2 4
H Z 52T 1,458 1,595 3,053 1,458 1,595 3,053 0 0 0
F 4 AEET 1,338 1,412 2,750 1,338 1,412 2,750 0 0 0
FEEMFARET 7,322 7,909 15,231 7,320 7,907 15,227 2 2 4
2X EBERET 44,016 48,231 92,247 43,995 48,203 92,198 21 28 49
;W W 62,136 70,791 132,927 62,107 70,746 132,853 29 45 74
B & m 19,287 22,016 41,303 19,282 21,998 41,280 5 18 23
N T 16,485 19,009 35,494 16,471 18,993 35,464 14 16 30
£ M ™ 6,512 7,379 13,891 6,510 7,370 13,880 9 1
3| RUE 0 6,969 7,814 14,783 6,961 7,805 14,766 8 9 17
3X EREt 111,389 127,009 238,398 111,331 126,912 238,243 58 97 155
= \E B HT 9,422 10,898 20,320 9,419 10,896 20,315 3 2 5
LB ARG 9,422 10,898 20,320 9,419 10,896 20,315 3 2 5
\.‘%‘ [R HT 3,443 3,880 7,323 3,441 3,874 7,315 2 6 8
AR AT 3,443 3,880 7,323 3,441 3,874 7,315 2 6 8
3X ARERET 12,865 14,778 27,643 12,860 14,770 27,630 5 8 13




